Pre Algebra Q1 assessment
Multiple Choice
Identify the choice that best completes the statement or answers the question.
Write an algebraic expression for the word phrase.

1
the mass of the package in grams reduced by 536 g

	A
	[image: image1.png]- 536






	B
	[image: image2.png]x + 536





	C
	[image: image3.png]536x





	D
	[image: image4.png]






2
At a movie theater, all tickets are sold for $6.50 each Write an algebraic expression for the total sales in dollars for n tickets.

	A
	[image: image5.png]2+ 6.5





	B
	[image: image6.png]6.5





	C
	[image: image7.png]n— 6.5





	D
	[image: image8.png]





Evaluate the expression for the given value.

3
2b  3 for b = 12

	A
	12

	B
	21

	C
	30

	D
	27



4
[image: image9.png]|54



 for d = 8

	A
	–13

	B
	13

	C
	40

	D
	–40



5
[image: image10.png]


 for a = –8

	A
	4

	B
	–20

	C
	–4

	D
	20



6
[image: image11.png]


 for r = 1 and s = –2

	A
	3

	B
	6

	C
	5

	D
	1


Order the numbers in the set from least to greatest.

7
7, 18, 12, –16, –11, 1

	A
	–16, –11, 1, 7, 12, 18

	B
	18, 12, 7, 1, –11, –16

	C
	–16, –11, 7, 18, 12, 1

	D
	1, 12, –16, 7, 18, –11



8
–2.69, –1.49, –2.7, –2.66, –3.5

	A
	–2.66, –2.69, –1.49, –2.7, –3.5
	C
	–1.49, –2.66, –2.69, –2.7, –3.5

	B
	–3.5, –2.7, –2.69, –2.66, –1.49
	D
	–3.5, –2.7, –2.66, –1.49, –2.69



9
[image: image12.emf]2

9

, 0.67, [image: image13.emf]

2

5

, 0.6

	A
	0.67, 0.6, [image: image14.emf]2

9

, [image: image15.emf]

2

5



	B
	[image: image16.emf]

2

5

, [image: image17.emf]2

9

, 0.6, 0.67

	C
	[image: image18.emf]

2

5

, 0.6, [image: image19.emf]2

9

, 0.67

	D
	[image: image20.emf]2

9

, 0.67, [image: image21.emf]

2

5

, 0.6


Simplify the expression.

10
[image: image22.png]40 + (—42)




	A
	–2

	B
	82

	C
	2

	D
	–82



11
[image: image23.png]4

-12)+ 3




	A
	16

	B
	–51

	C
	51

	D
	–16



12
During the day the temperature was [image: image24.png]29F



. At night, the temperature dropped [image: image25.png]18°F



. What was the temperature at night?

	A
	16[image: image26.png]oF





	B
	–20[image: image27.png]oF





	C
	20[image: image28.png]oF





	D
	–16[image: image29.png]oF







13
The highest location in a certain country is 14,864 feet above sea level. The lowest point in the same country is 141 feet below sea level.

	a.
	Find the difference of the two elevations.

	b.
	A city is 7,642 feet above sea level. Is this elevation closer to the highest point or the lowest point?


	A
	15,005 ft; lowest
	C
	14,723 ft; highest

	B
	14,723 ft; lowest
	D
	15,005 ft; highest



14
Identify the property.

[image: image30.png]



	A
	Identity Property of Addition

	B
	Commutative Property of Addition

	C
	Commutative Property of Multiplication

	D
	Identity Property of Multiplication



15
Which of the following is an example of the Distributive Property?

	A
	[image: image31.png]




	B
	[image: image32.png]49+ 2)=4+9-4+2





	C
	[image: image33.png]49+2)=4-9+4.2





	D
	[image: image34.png]





Solve the equation.

16
[image: image35.png]qa— 22

11




	A
	11

	B
	33

	C
	–33

	D
	–11



17
[image: image36.png]12k = 108




	A
	1,296

	B
	96

	C
	9

	D
	120


Write and solve an equation.

18
You withdrew $100 from the ATM machine. The new balance is $372. What was the original balance b of your account?

	A
	[image: image37.png]b+ 100 = 372, $272





	B
	[image: image38.png]b - 100 = 372, $472





	C
	[image: image39.png]b+ 372 = 100, $272





	D
	[image: image40.png]b - 372 = —100; $472







19
Which number is divisible by 3 and 4?

	5,593
	305
	9,401
	7,224


	A
	9,401

	B
	305

	C
	5,593

	D
	7,224



20
Find the GCF of 36, 60, and 96.

	A
	12

	B
	15

	C
	14

	D
	11



21
Write [image: image41.png]


 in simplest form using the GCF.

	A
	[image: image42.png]




	B
	[image: image43.png]




	C
	[image: image44.png]o | -]





	D
	[image: image45.png]- o







22
A player has a batting average of .135. Write this decimal as a fraction in simplest form.

	A
	[image: image46.emf]1

8



	B
	[image: image47.emf]27

200



	C
	[image: image48.emf]7

50



	D
	[image: image49.emf]13

100




Compare. Write <, >, or =.

23
[image: image50.png]


[image: image51.emf][image: image52.png]



	A
	<

	B
	>

	C
	=


Find the sum or difference. Write your answer as a mixed number or a fraction in simplest form.

24
[image: image53.emf]2

5

 + [image: image54.emf]1

9


	A
	[image: image55.emf]1

15



	B
	[image: image56.emf]23

45



	C
	[image: image57.emf]3

14



	D
	[image: image58.emf]19

45





25
[image: image59.emf]1

2

 + (–[image: image60.emf]1

6

)

	A
	[image: image61.emf]2

3



	B
	[image: image62.emf]1

3



	C
	[image: image63.emf]1

6



	D
	[image: image64.emf]13

24





26
[image: image65.emf]1

7

10

 + [image: image66.emf]2

1

2


	A
	[image: image67.emf]4

1

5



	B
	3[image: image68.emf]2

3



	C
	3[image: image69.emf]2

5



	D
	[image: image70.emf]4

7

20





27
A recipe calls for [image: image71.emf]2

5

8

 cups of flour. You have only [image: image72.emf]1

3

 cup left in your old bag of flour. How much flour do you need from your new bag of flour?

	A
	[image: image73.emf]1

7

24

 cups

	B
	[image: image74.emf]2

23

24

 cups

	C
	[image: image75.emf]2

7

24

 cups

	D
	[image: image76.emf]2

1

4

 cups


Find the product.

28
[image: image77.emf]

4

5

 [image: image78.png]


 [image: image79.emf]1

3


	A
	[image: image80.emf]

2

2

5



	B
	[image: image81.emf]

4

15



	C
	[image: image82.emf]4

15



	D
	[image: image83.emf]2

2

5




Find the quotient.

29
[image: image84.emf]1

6

 [image: image85.png]


 ([image: image86.emf]

4

5

)

	A
	[image: image87.emf]

5

24



	B
	[image: image88.emf]2

15



	C
	[image: image89.emf]5

24



	D
	[image: image90.emf]

2

15




Find the area of the figure.

30
rectangle: l = 5.1 m, w = 3.3 m

	A
	16.83 [image: image91.png]




	B
	8.4 [image: image92.png]




	C
	16.8 [image: image93.png]




	D
	8.415 [image: image94.png]





Short Answer

31
The table below shows the scores for two teams playing a series of four card games.

	
	Game 1
	Game 2
	Game 3
	Game 4

	Team 1
	–3
	1
	–4
	4

	Team 2
	4
	–5
	9
	–9


	a.
	Find the totals for each team after two games. 

	b.
	If the winner is the team with the greater score, which team is winning after two games?

	c.
	Would the results be any different after all four games? Why or why not?



32
Write [image: image95.png]


 as a decimal. Round to three decimal places.
Find the quotient.

33
–2 [image: image96.png]


 [image: image97.emf]4

4

5


Essay

34
Describe the steps you would follow in evaluating the expression [image: image98.png]3+ (-8)-(10+4) 2



. Then evaluate the expression. Show your work.
Other

35
Explain how you could predict the sign of the product of –8, 9, 7, and –4 without actually multiplying.

Pre Algebra Q1 assessment

Answer Section
MULTIPLE CHOICE

1
ANS:
A
DIF:
L2
OBJ:
1-1.1 Writing and Evaluating Algebraic Expressions

STA:
8MA P.1| 8MA P.2| 8MA P.4| 8MA P.6

TOP:
1-1 Example 1

2
ANS:
B
DIF:
L2
OBJ:
1-1.1 Writing and Evaluating Algebraic Expressions

STA:
8MA P.1| 8MA P.2| 8MA P.4| 8MA P.6

TOP:
1-1 Example 1

3
ANS:
D
DIF:
L2
OBJ:
1-1.2 Using the Order of Operations

STA:
8MA P.1| 8MA P.2| 8MA P.4| 8MA P.6

TOP:
1-1 Example 3

4
ANS:
C
DIF:
L2
OBJ:
1-2.1 Finding the Absolute Value of an Integer

STA:
8MA N.1| 8MA N.6| 8MA P.2
TOP:
1-2 Example 4



5
ANS:
C
DIF:
L2
OBJ:
1-3.2 Subtracting Integers

STA:
8MA N.8| 8MA N.10| 8MA N.12
TOP:
1-3 Example 3



6
ANS:
D
DIF:
L2
OBJ:
1-4.2 Dividing Integers

STA:
8MA N.9| 8MA N.10| 8MA N.12| 8MA P.2| 8MA P.3
TOP:
1-4 Example 4

7
ANS:
A
DIF:
L2
OBJ:
1-2.2 Comparing and Ordering Integers

STA:
8MA N.1| 8MA N.6| 8MA P.2
TOP:
1-2 Example 2



8
ANS:
B
DIF:
L4
OBJ:
1-2.2 Comparing and Ordering Integers

STA:
8MA N.1| 8MA N.6| 8MA P.2
TOP:
1-2 Example 2



9
ANS:
B
DIF:
L2
OBJ:
2-3.2 Ordering Rational Numbers

STA:
8MA N.1| 8MA N.5

TOP:
2-3 Example 3



10
ANS:
A
DIF:
L2
OBJ:
1-3.1 Adding Integers

STA:
8MA N.8| 8MA N.10| 8MA N.12
TOP:
1-3 Example 1



11
ANS:
D
DIF:
L3
OBJ:
1-4.1 Multiplying Integers | 1-4.2 Dividing Integers

STA:
8MA N.9| 8MA N.10| 8MA N.12| 8MA P.2| 8MA P.3
TOP:
1-4 Example 2

12
ANS:
D
DIF:
L2
OBJ:
1-3.2 Subtracting Integers

STA:
8MA N.8| 8MA N.10| 8MA N.12
TOP:
1-3 Example 3



13
ANS:
D
DIF:
L3
OBJ:
1-3.2 Subtracting Integers

STA:
8MA N.8| 8MA N.10| 8MA N.12
TOP:
1-3 Example 3



14
ANS:
D
DIF:
L2
OBJ:
1-5.1 Identifying and Using Properties

STA:
8MA N.8

15
ANS:
C
DIF:
L2
OBJ:
1-5.2 Using the Distributive Property

STA:
8MA N.8

16
ANS:
B
DIF:
L2
OBJ:
1-6.1 Solving Equations by Adding or Subtracting

STA:
8MA N.8| 8MA N.9| 8MA P.4| 8MA P.7

TOP:
1-6 Example 1

17
ANS:
C
DIF:
L2
OBJ:
1-7.1 Solving Equations by Multiplying or Dividing

STA:
8MA N.9| 8MA P.4| 8MA P.7
TOP:
1-7 Example 2



18
ANS:
B
DIF:
L2
OBJ:
1-6.1 Solving Equations by Adding or Subtracting

STA:
8MA N.8| 8MA N.9| 8MA P.4| 8MA P.7

TOP:
1-6 Example 1

19
ANS:
D
DIF:
L3
OBJ:
2-1.1 Identifying Prime and Composite Numbers

STA:
8MA N.5

20
ANS:
A
DIF:
L3
OBJ:
2-1.2 Finding the Greatest Common Factor

STA:
8MA N.5
TOP:
2-1 Example 4



21
ANS:
D
DIF:
L2


OBJ:
2-2.1 Simplifying Fractions and Writing Fractions as Decimals


STA:
8MA N.1| 8MA N.5| 8MA N.10
TOP:
2-2 Example 1



22
ANS:
B
DIF:
L2
OBJ:
2-2.2 Writing Decimals as Fractions

STA:
8MA N.1| 8MA N.5| 8MA N.10
TOP:
2-2 Example 4



23
ANS:
A
DIF:
L3
OBJ:
2-3.1 Comparing Rational Numbers

STA:
8MA N.1| 8MA N.5


24
ANS:
B
DIF:
L2
OBJ:
2-4.1 Adding and Subtracting Rational Numbers

STA:
8MA N.5| 8MA N.10| 8MA N.12
TOP:
2-4 Example 1



25
ANS:
B
DIF:
L2
OBJ:
2-4.1 Adding and Subtracting Rational Numbers

STA:
8MA N.5| 8MA N.10| 8MA N.12
TOP:
2-4 Example 1



26
ANS:
A
DIF:
L2
OBJ:
2-4.1 Adding and Subtracting Rational Numbers

STA:
8MA N.5| 8MA N.10| 8MA N.12
TOP:
2-4 Example 3



27
ANS:
C
DIF:
L2
OBJ:
2-4.2 Solving Equations With Rational Numbers

STA:
8MA N.5| 8MA N.10| 8MA N.12

28
ANS:
B
DIF:
L2
OBJ:
2-5.1 Multiplying Rational Numbers

STA:
8MA N.5| 8MA N.8| 8MA N.10| 8MA N.12| 8MA P.7
TOP:
2-5 Example 1

29
ANS:
A
DIF:
L2
OBJ:
2-5.2 Dividing Rational Numbers

STA:
8MA N.5| 8MA N.8| 8MA N.10| 8MA N.12| 8MA P.7
TOP:
2-5 Example 3

30
ANS:
A
DIF:
L2
OBJ:
2-6.1 Using Formulas to Solve Problems

STA:
8MA M.3
TOP:
2-6 Example 1


SHORT ANSWER

31
ANS:


	a.
	Team 1: –2

	
	Team 2: –1

	b.
	Team 2

	c.
	The results would not be different after 4 games since each team scored a total of zero points in games 3 and 4.


DIF:
L3
OBJ:
1-3.1 Adding Integers
STA:
8MA N.8| 8MA N.10| 8MA N.12

TOP:
1-3 Example 1



32
ANS:


3.25
DIF:
L2
OBJ:
2-2.1 Simplifying Fractions and Writing Fractions as Decimals

STA:
8MA N.1| 8MA N.5| 8MA N.10
TOP:
2-2 Example 3



33
ANS:


[image: image99.emf]

5

12


DIF:
L2
OBJ:
2-5.2 Dividing Rational Numbers


STA:
8MA N.5| 8MA N.8| 8MA N.10| 8MA N.12| 8MA P.7
ESSAY

34
ANS:


	[4]
	First, simplify inside parentheses: [image: image100.png]10+4




. Next, multiply: [image: image101.png]14.2 = 28



. Finally, add or subtract from left to right in the expression: [image: image102.png]


 [image: image103.png]=33





	[3]
	one mistake made

	[2]
	two mistakes made

	[1]
	correct answer without work shown


DIF:
L3
OBJ:
1-4.1 Multiplying Integers


STA:
8MA N.9| 8MA N.10| 8MA N.12| 8MA P.2| 8MA P.3
TOP:
1-4 Example 1
OTHER

35
ANS:


Since there are two negatives being multiplied, the product would be positive. Any time an even number of negatives are multiplied, the product is positive.
DIF:
L3
OBJ:
1-4.1 Multiplying Integers


STA:
8MA N.9| 8MA N.10| 8MA N.12| 8MA P.2| 8MA P.3

